Topic 1 What is a differential equation?

y' = 3yEx: To solve this differential equation we want a function y where y = 3y. Let's try y=e. We get $y' = 3e^{3x}$ Notice that here y=3y. So, $y = e^{3x}$ solves y' = 3y.

Def: An equation relating an unknown Function and one or more of its derivatives is called a differential equation. • If a differential equation only has regular derivatives of a single function then its called an <u>ordinary</u> differential <u>equation</u> (ODE). If it has partial derivatives then its called a partial differential equation (PDE). • The <u>order</u> of a differential equation is the order of

the highest derivative that occurs in the equation y' = 3yEx: of order 1 ODE $\frac{dy}{dx} + \frac{dy}{dx} - 5y = 2$ EX: y'' + y' - 5y = 2ODE of order 2

 $\underline{Ex:} \quad y'' + 2x^3y' = \sin(x)$ unknown Function y is the y = y(x) is a function of xX is a number ODE of order 2 EX: (Laplace equation) $\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} = 0$ Here u = u(x,y) is a function of x and y.

PDE of order 2

Def: An ODE is called linear if it is of the form $a_n(x)y^{(n)} + a_{n-1}(x)y^{(n-1)} + \dots + a_1(x)y' + a_0(x)y = b(x)$ (these terms only have x's and #'s in them) _χ: 2xy''-5y'+xy=cos(x)#'s and x's

ODE of order 3 linear











We have

$$y = sin(x) \leftarrow$$

 $y' = cos(x)$
 $y'' = -sin(x) \leftarrow$
So, $y'' = -y \leftarrow$
Thus, $y = sin(x)$ solves
 $y'' = -y$ on $I = (-\infty, \infty)$.

Ex: Let's find a solution to the initial-value problem fnonlinear ODE $y' = y^{2} + y(0) = 1$ Condition on solution Consider f(x) = $f(x) = (1 - x)^{-1}$ Theni $f'(x) = -(|-x) \cdot (-|)$ $= (1-x)^{-2} = \frac{1}{(1-x)^{2}}$

Then,

$$f'(x) = \frac{1}{(1-x)^2} = \left[\frac{1}{(-x)}\right]^2 = \left[f(x)\right]^2$$
So,

$$f(x) = \frac{1}{1-x} \text{ satisfies } y' = y^2,$$
Also,

$$f(x) = \frac{1}{1-x} = 1 \quad \text{checking:} \quad y(x) = 1$$
So,
$$f \text{ satisfies the problem}$$
Yun could say

$$f \text{ solves the problem} \quad y = \frac{1}{1-x}$$
on
$$I = (-\infty, 1)$$

Ex: Given any constants

$$c_1$$
 and c_2 show that
 $c_1 = c_1 e^{2x} + c_2 e^{2x}$
 $f(x) = c_1 e^{x} + c_2 e^{2x}$

$$y'' - 4y = 0$$

on
$$I = (-\infty, \infty)$$

$$\frac{E \times i}{f(x)} c_1 = 5, c_2 = -3$$

$$f(x) = 5e^{2x} - 3e^{-2x}$$

 $f(x) = c_1 e^{2x} + c_2 e^{-2x}$ these exist $f'(x) = Zc_1 e^{2x} - Zc_2 e^{-2x}$ for AILX $f''(x) = 4c_1e^{2x} + 4c_2e^{-2x}$ that is T = (-10).00I=(-10,10) Plug in y''=f'' and y=f to get: $y' - 4y = (4c_1e^{2x} + 4c_2e^{-2x})$ $-4(c_1e^{2x}+c_2e^{-2x})$ = 0So, f satisfies y''-4y=0 $On I = (-\infty, \infty),$ END 2(d)

Ex: Find
$$c_{1,c_2}$$
 where
 $f(x) = c_1 e^{2x} + c_2 e^{-2x}$
Solves the initial-value problem
 $y'' - 4y = 0$
 $y'(0) = 0$
 $y(0) = 1$
 $y(0) = 1$

We already know from 2(d) that $f(x) = c_1 e^{2x} + c_2 e^{-2x}$ solves y'' - 4y = 0. Let's make it solve the extra conditions, We have

$$f(x) = c_{1}e^{2x} + c_{2}e^{-2x}$$

$$f'(x) = 2c_{1}e^{2x} - 2c_{2}e^{-2x}$$
We need:

$$c_{1}e^{-2(0)} + c_{2}e^{-2(0)} = 1$$

$$2c_{1}e^{2(0)} - 2c_{2}e^{-2(0)} = 0$$

$$e^{2} = 1$$

$$c_{1} + c_{2} = 0$$

$$e^{2} = 1$$

$$c_{1} + c_{2} = 0$$

$$(2)$$

(2) gives $C_1 = C_2$. Plug $C_1 = C_2$ into (1) to get $C_2 + C_2 = 1$. So, $C_2 = \frac{1}{2}$.

Plug back into $c_1 = c_2 + 0$ Get $c_1 = \frac{1}{2}$ also.

 $f(x) = c_1 e^{2x} + c_2 e^{-2x}$ Su, $= \frac{1}{2}e^{2x} + \frac{1}{2}e^{-2x}$

is the solution.

